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Law

1. The Governor of a State is appointed by the President on the advice of the
(a) Prime Minister

(b) Vice- President

(c) Chief Minister

(d) Chief Justice

Answer: Prime Minister

2. The President gives his resignation to the
(a) Chief Justice

(b) Parliament

(c) Vice President

(d) Prime Minister

Answer: Vice President
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3. For what period does the Vice President of India hold office?

(a) 5 years
(b) Till the age of 65 years
(c) 6 years
(d) 2 years

Answer: 5 years

4. Who among the following holds office during the pleasure of the
President?

(a) Governor

(b) Election Commissioner
(c) Speaker of Lok Sabha
(d) Prime Minister

Answer: Governor
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5. Which of the following is not true regarding the payment of the
emoluments of the President?

(a) They can be reduced during a Financial Emergency.
(b) They are shown separately in the budget.

(c) They are charged on the Contingency Fund of India.
(d) They do not require any parliament sanction.

Answer: They are charged on the Contingency Fund of India.

6. The total number of members nominated by the President to the Lok
Sabha and the Rajya Sabha is

(a) 16
(b) 18
(c) 14
(d) 12

Answer: 14
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7. Which one of the following does not constitute the electoral college for
electing the President of India?

(a) Elected members of Lok Sabha

(b) Elected members of the Legislative Assembly of each state.
(c) Elected members of the Legislative Council

(d) Elected members of Rajya Sabha

Answer: Elected members of the Legislative Council

8. The Council of Ministers in a Parliamentary type of Government can
remain in office till it enjoys the support of the

(a) Minority of members of the Upper House of Parliament
(b) Majority of the members of the Upper House of Parliament
(c) Minority of members of the Lower House

(d) Majority of the members of the Lower House of Parliament

Answer: The majority of the members of the Lower House of Parliament
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9. Which of the following appointments is not made by the President of
India?

(a) Chief of the Army

(b) Speaker of the Lok Sabha
(c) Chief Justice of India

(d) Chief of the Air Force

Answer: Speaker of the Lok Sabha
10. Who appoints the Prime Minister of India?

(a) Lok Sabha

(b) President

(c) Parliament

(d) Citizens of India

Answer: President

11. The first woman Governor of a state in free India was
(a) Mrs. Indira Gandhi

(b) Mrs. Vijaya Laxmi Pandit

(c) Mrs. Sarojini Naidu

(d) Mrs. Sucheta Kripalani

Answer: Mrs. Sarojini Naidu
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12. Minimum age required to contest for Presidentship is

(a) 23 years
(b) 21 years
(c) 35 years
(d) 30 years

Answer: 35 years

13. The charge of impeachment against the President of India for his
removal can be preferred by

(a) Both Houses of Parliament

(b) Speaker of Lok Sabha and Chairman of Rajya Sabha
(c) Rajya Sabha

(d) Lok Sabha

Answer: Both Houses of Parliament
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14. The Chief Minister of a Union Territory where such a setup exists, is
appointed by the

(a) Lt. Governor

(b) Majority party in Legislature

(c) President

(d) Prime Minister

Answer: Lt. Governor

15. Who was the first Prime Minister of India?
(a) Jawaharlal Nehru

(b) Mrs. Indira Gandhi

(c) Dr. Rajendra Prasad

(d) Mahatma Gandhi

Answer: Jawaharlal Nehru
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16. In case a President dies while in office, the Vice President can act as
President for a maximum period of

(a) 1 year

(b) 3 months

(c) 6 months

(d) 2 years

Answer: 6 months

17. The Union Council of Ministers consists of

(a) Cabinet Ministers, Minister of State, and Deputy Ministers
(b) Cabinet Ministers and Chief Ministers of the States

(c) Prime Minister

(d) Cabinet Ministers

Answer: Cabinet Ministers, Minister of State, and Deputy Ministers
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18. Who administers the oath of office to the President of India before he

enters office?

(a) Chief Justice
(b) Speaker

(c) Vice President
(d) Prime Minister

Answer: Chief Justice

19. Who among the following enjoys the rank of a Cabinet Minister of the
Indian Union?

(a) None of the Above
(b) Deputy Chairman of the Planning Commission
(c) Deputy Chairman, Rajya Sabha

(d) Secretary to the Government of India

Answer: Deputy Chairman of the Planning Commission
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20. A person who is not a member of Parliament can be appointed as a
Minister by the President for a maximum period of

(a) 9 months
(b) 3 months
(c) 12 months
(d) 6 months

Answer: 6 months

21. When can a President use his discretion in appointing the Prime
Minister?

(a) When no political party enjoys a clear majority in the Lok Sabha.
(b) Only when the Lok Sabha has been dissolved.
(c) In all circumstances

(d) In no circumstances

Answer: When no political party enjoys a clear majority in the Lok Sabha.
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22. If in a country there happens to be the office of monarchy as well as a
Parliamentary form of government this monarch will be called

(a) Head of the State

(b) Head of the Cabinet

(c) Head of the government

(d) Both Head of the government and State

Answer: Head of the State

23. One feature distinguishing the Rajya Sabha from the Vidhan Parishad is
(a) Power of impeachment

(b) Indirect election

(c) Nomination of members

(d) Tenure of membership

Answer: Power of impeachment

24. Chief Ministers of all the states are ex-officio members of the
(a) Planning Commission

(b) National Development Council

(c) Inter-State Council

(d) Finance Commission

Answer: Inter-State Council
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25. Who, among the following, has the final right to sanction the
expenditure of public money in India?

(a) Speaker
(b) President
(c) Prime Minister

(d) Parliament

Answer: President

Current Affairs/ General Knowledge
26. The current President of India is ?
Answer: Ram Nath Kovind

27. What is the name of ISRO’s new humanoid robot that will go to space
next?

Answer: Vyommitra.
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28. What is the primary function of the Governor of India?

Answer: To protect, preserve, and defend the law and constitution as
incorporated in their oath.

29. How many kite festivals does India have in a year?

Answer: Around 200. Gujarath celebrated the 31st Kite festival this year in
January.

30. What are India’s top sports in the Olympics?

Answer: Field hockey, Shooting, Wrestling, and Athletics are some of
India’s top sports in the Olympics.

31. What is the professional Twenty20 cricket league in India called?
Answer: IPL

32. Which Indian Cricketer was recently given the ‘Padma Vibushan’ award?
Answer: Sachin Tendulkar

33. Where is the headquarters of ISRO located?

Answer: Bangalore
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34. Which are the two houses of the Parliament?

Answer: The Rajya Sabha and Lok Sabha

35. Which is India’s smallest state?

Answer: Goa

36. Who was the author of Ramayana?

Answer: Valmiki

37. How many states and union territories are there in India?
Answer: There are 29 states and 7 union territories

38. Who is authorized to decide over a dispute regarding disqualification of a
member of parliament?

Answer: President
39. Who among the following was never the Lok sabha speaker?

Answer: KVK Sundaram
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40. What is the age of retirement of a Judge of a supreme?
Answer: 65yrs

41. The Constitution of India provides a?

Answer: Cabinet System of Government

42. Mr.PV.Narashima Raoisthe _ Prime Minister of India
Answer: Ninth

43. In 2011, The present Majority Leader of the Lok Sabha is
Answer: Pranab Mukerjee

44. The Indian Constitution is regarded as

Answer: Federal in form and unitary in spirit

45. The part of the constitution that reflects the mind and ideals of the
framers is

Answer: preamble
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46. The Indian Constitution has borrowed the ideas of preamble from the
Answer: Constitution of USA

47. What is the minimum permissible age for employment in any factory or
mine?

Answer: 14 years
48. Which of the following is not a condition for becoming a citizen of India?
Answer: Acquiring Property

49. Who is competent to prescribe conditions as for acquiring Indian
Citizenship?

Answer: Parliament
50. The Lok Sabha is also known as

Answer: The House of the People
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51. Which shape comes next in the sequence?

A, B CD,E

Explanation: The black and white dots are alternating between 5 and 7 in

number. In the last picture there are 5 white dots and 7 black ones, meaning

the following image should contain 7 white dots and 5 black ones.

Answer: E
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52. Complete the sequence.

A, B CD,E

Explanation: Each tile contains 2 overlapping shapes, 1 larger than the other.
As the 2 shapes overlap a new, smaller shape if created inside the first large
shape. The large shape in the following tile corresponds directly with this
new shape that was created. When the shapes overlap the largest bisection
is always within the biggest shape.

Answer: B
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53. Complete the sequence.

A B CD,E

Explanation: The first two rules are relatively easy to work out. The shape in
the center alternates between orange and white and the navy dot is moving
around the tile corners in a clockwise direction. The real challenge is spotting
that the big black square is moving around the sides and corners of the tile
in alternating directions, first anti-clockwise, then clockwise. It also increases
how many spaces it moves in increments of one. First, it moves
anti-clockwise one position, next it moves 2 spaces clockwise, then 3
anti-clockwise, and so on.

Answer: C
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54. Which is the odd string of letters out?

A, B CD,E

Explanation: Each string of letters contains S, F, G, H, and J appearing in a

loop. It is easier to imagine if you can see multiple loops appearing
consecutively: S-F-G-H-J-S-F-G-H-J-S-F-G-H-J A, B, C, and D strings all include
letters in the right order to fit in the same loop. For example, F always

follows S and precedes G however in the last string (E) The letters are out of

order.

Answer: E
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55. Complete the sequence.

A B CD

Explanation: There are 4 rules consistent in this sequence. First, the number
of dots appearing in the center is decreasing by one, as is the number of
sides appearing on the black shape. The triangle is being flipped sideways
and then back again and finally, the square in the corner remains the same.

Answer: B

56. Synonym of ABANDON

A. Try
B. Join
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C. Keep with
D. Forsake

Answer: Forsake

57. ENORMOUS

A. Soft

B. Average

C. Tiny

D. Weak

Answer: Tiny

58. Suganya is typing.
A. simple past

B. simple present

C. present continuous
D. past perfect
Answer: present continuous

59. We saw animals at the zoo.

A. Much
B. Many
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C. So Many
D. All

Answer: Many
60. Select the odd one out

A. Hardware
B. Keyboard
C. Ink

D. Monitor

Answer: Ink

61. Manika is a B.Sc. Graduate with 70% marks and has completed PG in
M.Sc. She completed 27 years of age in 2015 and has 3 years of experience
as a Maths Faculty. She is ready to join a probation period of one year.

A) if the case is to be referred to the Principal.

B) if the case is to be referred to Vice Principal.

C) if the candidate is to be selected.

D) if the information is inadequate to take a decision.
E) if the candidate is not to be selected.

Answer: C) if the candidate is to be selected.
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62. Mamta is a graduate in B.A. and B.Ed. with 75% and 70% respectively.
She has been working as a professor in Math for 5 years and has freelancing
experience of 2 years. Mamta’s age is 30 years and she is ready to join 2
years probation.

A) if the case is to be referred to the Principal.

B) if the case is to be referred to Vice Principal.

C) if the candidate is to be selected.

D) if the information is inadequate to take a decision.
E) if the candidate is not to be selected.

Answer: C) if the candidate is to be selected.

63. Shobha, a 29-year-old science graduate with 70% marks in her
graduation has 53% marks in her B.Ed. and she also has an Arts with Maths
graduation securing 80% marks. She also worked with Satyam for a span of 5
years and she is willing to join the probation period for 1 year.

A) if the case is to be referred to the Principal.

B) if the case is to be referred to Vice Principal.

C) if the candidate is to be selected.

D) if the information is inadequate to take a decision.
E) if the candidate is not to be selected.

Answer: A) if the case is to be referred to the Principal.
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64. Abhishek is a graduate in B.Sc. and postgraduate in M.Sc. with 78%
marks and has been working for the past 7 years during which he worked as
a teacher in a coaching institute for two years. He was born on 07.11.1986
and is ready to join a probation period of 1 year.

A) if the case is to be referred to the Principal.

B) if the case is to be referred to Vice Principal.

C) if the candidate is to be selected.

D) if the information is inadequate to take a decision.
E) if the candidate is not to be selected.

Answer: D) if the information is inadequate to take a decision.

65. Aman has been working as Assistant Professor for the past 5 years. She
has completed MA and graduation with 73% marks each and is ready to join
one-year probation. She was born on 22 Aug 1987.

A) if the case is to be referred to Executive Head.

B) if the case is to be referred to Vice President.

C) if the candidate is to be selected.

D) if the information is inadequate to take a decision.
E) if the candidate is not to be selected.

Answer: C) if the candidate is to be selected.
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66. Eileen is planning a special birthday dinner for her husband's 35th
birthday. She wants the evening to be memorable, but her husband is a
simple man who would rather be in jeans at a baseball game than in a suit at
a fancy restaurant. Which restaurant below should Eileen choose?

A. Alfredo's offers fine Italian cuisine and elegant Tuscan decor. Patrons will
feel as though they've spent the evening in a luxurious Italian villa.

B. Pancho's Mexican Buffet is an all-you-can-eat family-style smorgasbord
with the best tacos in town.

C. The Parisian Bistro is a four-star French restaurant where guests are
treated like royalty. Chef Dilbert Olay is famous for his beef bourguignon.

D. Marty's serves delicious, hearty meals in a charming setting reminiscent
of a baseball clubhouse in honor of the owner, Marty Lester, a former major
league baseball all-star.

Answer: D

67. The film director wants an actress for the lead role of Lucy who perfectly
fits the description that appears in the original screenplay. He is not willing
to consider actresses who do not resemble the character as she is described
in the screenplay, no matter how talented they are. The screenplay describes
Lucy as an average-sized, forty-something redhead, with deep brown eyes,
very fair skin, and a brilliant smile. The casting agent has four actresses in
mind.

Actress #1 is a stunning red-haired beauty who is 5'9" and in her
mid-twenties. Her eyes are brown and she has an olive complexion.
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Actress #2 has red hair, big brown eyes, and a fair complexion. She is in her
mid-forties and is 5'5".

Actress #3 is 5'4" and of medium build. She has red hair, brown eyes, and is
in her early forties.

Actress #4 is a blue-eyed redhead in her early thirties. She's of very slight
build and stands at 5'.

A. 1,2
B.2,3
C.1,4
D.2,4

Answer: B

68. The school principal has received complaints from parents about bullying
in the schoolyard during recess. He wants to investigate and end this
situation as soon as possible, so he has asked the recess aides to watch
closely. Which situation should the recess aides report to the principal?

A. A girl is sitting glumly on a bench reading a book and not interacting with
her peers.

B. Four girls are surrounding another girl and seem to have possession of her
backpack.
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C. Two boys are playing a one-on-one game of basketball and are arguing
over the last basket scored.

D. Three boys are huddled over a handheld video game, which isn't
supposed to be on school grounds.

Answer: B

69. Mrs. Carson took a taxi to meet her three friends for lunch. They were
waiting for her outside the restaurant when she pulled up in the car. She was
so excited to see her friends that she left her tote bag in the taxi. As the taxi
pulled away, she and her friends took notice of the license plate number so
they would be able to identify the car when they called the taxi company.

#1: The four women seem to agree that the plate starts out with the letter J.
#2: Three of them agree that the plate ends with 12L.

#3: Three of them think that the second letter is X, and a different three
think that the third letter is K.

The four license plate numbers below represent what each of the four
women thinks she saw. Which one is most likely the license plate number of
the taxi?

A. IXK 12L
B.JYK 12L
C. JXK 12|
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D. XX 12L

Answer: A

70. Zachary has invited his three buddies over to watch the basketball game
on his wide-screen television. They are all hungry, but no one wants to leave
to get food. Just as they are arguing about who should make the food run, a
commercial comes on for a local pizzeria that delivers. The phone number
flashes on the screen briefly and they all try to remember it. By the time
Zachary grabs a pen and paper, each of them recollects a different number.
#1: All of the men agree that the first three numbers are 995.

#2: Three of them agree that the fourth number is 9.

#3: Three agree that the fifth number is 2.

#4: Three agree that the sixth number is 6; three others agree that the
seventh number is also 6.

Which of the numbers is most likely the telephone number of the pizzeria?

A.  995-9266
B.  995-9336
C. 995-9268
D.  995-8266
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Answer: A

71. Mr. Anand is a graduate in commerce with a certificate in banking. He
has been working in the PRQ Bank for the last 6 years. You need to take a
decision whether:

A. The candidate is to be selected.

B. The candidate is to be referred to the selection panel.
C. The candidate is to refer to the managing director.

D. The candidate is to be rejected.

Answer: A

72. Mr. Rohit is a post-graduate in science from the ABC university. He has
been working in the financial services industry for the last 9 years. You need
to take a decision whether:

A. The candidate is to be selected.

B. The candidate is to be referred to the selection panel.

C. The candidate is to be referred to the managing director.

D. The candidate is to be rejected.

Answer: C
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73. Mr. Sharma has been working in the PQR Bank for the last 6 years. He is a
post-graduate in Commerce from the University of UVW. You need to take a
decision whether:

A. The candidate is to be selected.

B. The candidate is to be referred to the selection panel.

C. The candidate is to be referred to the managing director
D. The candidate is to be rejected.

Answer: A

74. Miss Shashi is a graduate in commerce and has also a diploma in
banking. She has been working in the RST Bank for the last 4 years. You need
to take a decision whether:

A. The candidate is to be selected.

B. The candidate is to be referred to the selection panel.

C. The candidate is to be referred to the managing director.
D. The candidate is to be rejected.

Answer: D
75. Miss Prachi is a B.Tech with 5 years of experience working in the
automobile industry. She is looking forward to an opportunity to work with

PRQ Bank. You need to take a decision whether:

A. The candidate is to be selected.
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B. The candidate is to be referred to the selection panel.
C. The candidate is to be referred to the managing director.
D. The candidate is to be rejected.

Answer: D
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